1 20
2000 6
GIS
GIS
2. o
24 13 20 -
65 -
6 g:
16 1 2 5 e
40_
3 6 10 55
30 -
24 -
2
12 85-90
80-85
75-80
70-75
65 -
60 -
55 -
17 20~
22
2
8 9
43
22 43
2 3
2

61



LS

32 HIV HV
13 3ch H/IV
S
12 9 HV 12
GIS K5 L5 31 25m
7 HIV 8Hz
8 K5
2 1/4 f=Vg/4H
9 Vs
7 HIV
L5
-16m
+10m 4,
GIS
GIS
m
3.
2004 7 12 100m GIS
30
3ch
10
G5
L5
31 S
1 50m L S
11 C3 L5
m Vs 200m/s
G5 K5 Vielocity (m/s) Vielocity (m/s) L5 — v
o(zml‘????????ﬂ?????ﬁf’o 010,260,200 200 200 €00 M H }b E Hv
Vs  300m/s 10b- i C3, 100 "‘U\ {1 // —
I3 LA MA
e E N 4 -
e r 1 UYLy i -
K5 L5 oF E e
100m 50/ s 01
F 0.1
60 : : 1000
mo Vs o 100G o womoTm 0o | K5 — W
100m/s i r G5l i Mee] 100 —
25m 10p- —
S EZO? % 10/\/ E
£30F _ -
§40; 1 -
50; 0.1
g 0.1
60

12




